#6540 HmATHAIFEYYI—KE F—FAVIR

1/9 1/11 1/9
A7uavy E7uys
Aa—F Aa—|
AFERRARSE A 1 @ 4 3 ® 15 K &
3 r
(5) 1 4 (6]
" _
5 - ) — 0 L 16 JI|
(3) 0 0 (4)
" ® 3 2 Aa—} Aa—} ° 17N
hl r
Bruyy 1) 3 1 (2} pornyy
3 B=a—} B=—}
b= | I 4 — o 4 18T S
hl r
[1J 2 2 k2]
< b 0 ’ L wx =
(5) 8 2 (6)
Al —
o 7 6 — 1 o 20 ¥5
(3) 0 1 (4)
I} 870 4 5 @ 21 88
o] 1}
cTuyy (3 A:r~}~“3] Gy
- CcCa—+h Aza—pk| (5] |Ba—*r Ca—+h
= E "8 ® 1 0—0 6 ®22K i
[SJPKZ—l . (0—1) \ (4)
o F c 9 1 2 23 B
(5) o o (6]
N B 7 10 o s 24 AFERRARSE
(1) 0 0 (2)
T gu — ! 0 25 %
p7ays L) ° 0 (2} yornyy
R F c 12 8D:1——F B=a—} B=a—} D:x-—l\l 2 T
(3) 1 0 (4)
KANZAKTI 13 1 3 27 B
(5) 2 5_PK5-4)- ¢ 5
be) #Fuo— 10 oL _®®TOMID
25 1HE 1/9 P 7 v hAR—AVBABCTZ 4 —/L R
2HE 1/11 hRGH 7y FR—AVEBC 74— R

Bl Kxayvh—LEMH
@B F. CCHO

34 RFC

3{i HXFC

op



